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OO00thisOOO0OO0OOOOO OO :public class A {String s =
"Hello".public A(String s) {System.out.printin("s =
s).System.out.printin("1 -> this.s = " this.s).this.s =
s.System.out.printin("2 -> this.s =" this.s).}public static void
main(String[] args) {new A("HelloWorld!").}}O0 O O 0O O s =
HelloWorld!1 -> this.s = Hello2 -> this.s = HelloWorld!D OO O O
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JO000o0o00oo0ooddndthistd O O public class A
{public A() {new B(this).print().}public void print()
{System.out.printin("Hello from A!").}}public class B {A a.public
B(A a) {this.a =a.}public void print()
{a.print().System.out.printin("Hello from B!").}}10 0O OO OO [J Hello
fromAlHellofromB!O O OO OO0OO0OAOOOOOOO
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[1 O public class A {int i = 1.public A() {Thread thread = new
Thread() {public void run() {for(..) {A.this.run().try {sleep(1000).}
catch(InterruptedException ie) {}}}}.thread.start().} public void
run() {System.out.printin("i =" 1).i .}public static void main(String[]
args) throws Exception {new A().}}00 U O O 0O O O O, thread O
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